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fies (F) with {(4y, By), - - -, (4s, Bk)} as a class of order-pairs. The
2k-+1 integers k2, - - -, k2+42Fk are reversed by p, but two of them
must fall in the same set 4. This is a contradiction.

Therefore G is a proper subgroup of S..
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1. DEerFINITION 1. A Bernoulli scheme (E, Q, &, P, T) is a probabil-
ity space together with a transformation T, where

(i) E= {1, cee, n} for some positive integer n, or E= {1, 2, - -},

() Q={w=(-"+, @, wo, w1, * + - )| w;EE for all i},

(ili) & is the smallest o-algebra containing all sets Af = {w|wi=*k},

(iv) ¢>0 is defined for kEE with D ez gz=1, P is the product
measure on & defined by P{4}} =g, for all 4,

(v) T is the shift transformation defined on 2, ie., Tw=w' if
and only if w/ =w; for all 4.

We shall sometimes refer to a Bernoulli scheme as a (g1, * * * , gn)-
scheme or a (qi, ¢ -+ -+ )-scheme depending upon whether
E={1, . co,n}orE={1,2,--- }

DEerINITION 2. Two Bernoulli schemes (E, @, §, P, T) and
(E', @, ¢, P, T") are said to be isomorphic modulo sets of measure
zero (or simply isomorphic) if there exist sets DEF, D' €F’ and a map-
ping ¢: D—D’ such that

(i) TD=D,

(ii) ¢: D—D' is one-to-one and onto,

(iii) ¢(Tw)=T'(¢w) for all wED,

(iv) if A CD then A€ if and only if ¢4 EF,

(v) if ACD and AEF then P(4)=P'(¢pA4),

(vi) P(D)=1.

DEFINITION 3. The entropy of a (g1, * - * , ga)-scheme [(q1, @2, + * *)-
scheme] is given by
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